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THEXy « T - FER - 5 Mo % LFENAL B G EHAm #H TE (B ESM)
T AR
= 1 7,522, 708
HhgET
= 1 742, 250
j‘—/\‘\ —[/{J_;
= 1 742, 250
e (BOE - B BRI A2y (20) &fiE 50mm 1
CAmARR (LB 0 P B v 50
mmPL )
m2 250 2,969 742, 250
Bkt 1
= 1 1,126, 821
E¥LT
= 1 59, 021
18T
= 1 1, 067, 800
7" VA NURL IR PU3-B300-H300
m 100 10, 678 1, 067, 800
BRET
= 1 32,125
T BT
= 1 32,125
TR (A
m2 250 128.5 32,125
INS VUL
= 1 2,769, 312
JRBSLERERE T
= 1 2,769, 312
Iy SY(E=S
= 1 2,769, 312
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm #H TE (B ESM)
HEE L
= 1 2, 405, 800
e B L T
= 1 1, 586, 500
/) ) -MEIEBUE L ERAHEEY HARUIE 1
m3 100 15, 865 1, 586, 500
TEHR LB T
= 1 819, 300
PRauRiiie ) -k (Bk)
m3 100 1,943 194, 300
ALy ) -k (Bk)
m3 100 6, 250 625, 000
G an
= 1 446, 400
RmE T
= 1 446, 400
B TR
= 1 7,522, 708
I
= 1 1, 236, 000
B3 TS
= 1 116, 000
BIGREsET (K30
= 1 116, 000
MR E (FE L)
= 1 1, 120, 000
Wi
= 1 8, 758, 708
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
B
= 1 4, 220, 000
T AT
= 1 12,978, 708
— R
= 1 2,621, 292
TS
= 1 15, 600, 000
THEBLFH Y %H
= 1 1, 560, 000
TH#&G
= 1 17, 160, 000
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